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RO XE" XLFAROETHRE. (S50, A1 208, Bik14 50,

[ * ~D1% = o~k
* ~Dz % = ~X 75
* ~D1IRWL = ~x (1+155)
* ~Dr %ML = ~x(1+%)
* ~D1%5E = ~x(1-55)
\*’\/@x%‘?rl? ’\/x(l—lioo)

(1) a?DbH %

a x 0.05 = 0.05a

(3) 200D x4l

x p—
200 x 0= 20x

WHAGED T =T x |

(5) 500D zEBEL

X
500 x (1+ 10)

B a
_500(1+ 10)

= 500 + 50z

(7))  zD3E 2L

z % (1+0.32) = 1.32x

(9) a®200 %L

200)_
a X <1+—100 — 3a
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%, 28 01 BEEH
4 C#h25530%)
(K ~D1d# = ~x
* ~D il = ~x &
* ~DLTEHL = ~x (1+54)
* ~DxrEPEL = ’\/><(1+1£0)
* ~D1HIGE = ~x(1-15)
| K ~D o5 E ~x(1-2)

(2)

(4)

(6)

(8)

(10)

1000 D x %

xr
1000 x 100 = 10x

x D25 %ML

z x (14 0.25) = 1.25z

a?D2H5Z

ax(1-02)=0.8a

1200 D x %I

1200 x (1 _ 1%)

—1200(1— %
100

= 1200 — 12z

a®Dx %L D2H G =

s
a x <1+1—00> x (1-0.2)

—0.8a 1+ -2
a<+100)
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2. ROXFEZXTFAOETEE. (S0, Af1520%, Bik1350%, C#24330% )

1) aD10%

ax0.1=0.1a

(3) 250D x|

I —_—
250 x 0= 25z

(5) 1500 D z EHE L

1500 x (1-+—j%;)

xr
=1500( 1 —
( +10)

= 1500 + 150«

(7) zD14% 5581

z % (140.15) = 1.15x

(9) adD 300 %KL

ax<1 %%>:4a
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(2) 3000 Dz %

r  _
3000 x 100 = 30x

(4) zD8%MWL

z % (14 0.08) = 1.08x

6) aD1#5]E

ax(1-0.1)=0.9a

(8) 400 D z %I,

X
400 x (1-— 100)

—400(1— %
( 100)

=400 — 4z

(10) aDx%HIED3HBEL

ax(y—i%)x(1+0a

—1.3a 1 - X
100
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